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Take a few moments to reflect on SMP’s connected to the content tasks we did today:

	Name of the task and related SMP’s
	Evidence for the chosen SMP’s

	
	


Jot down how you contributed to our shared community of professionals and what mathematical and/or pedagogical knowledge you are taking away from today:

SMP #6: Bus Question

Three students were asked the following question: “If there are 45 students going on a field trip and 30 students fit on a bus, then how many buses will we need?” One student found the answer to be one and a half and the other student said the answer was two. The first student executed 45/30 using the standard division algorithm correctly to obtain his answer of 1.5 buses. He clearly labeled the solution and used proper academic language while reading his calculation as “one and five tenths buses.” The student went further and explained that he would recommend using one regular bus and a short bus since you cannot have half of a bus. Student two approached the problem differently, but also made sure to label solutions and communicate ideas clearly. She drew a picture of a bus filled with students and used subtraction to discover there were 15 students leftover. Her pictures drawn were appropriate and her work was accurate. She noticed that fifteen students would only occupy half of a bus. Similar to student one, this student also obtained a solution of 1.5, but recommended two buses. She explained that because you cannot have half of a bus, they will need to take two with 15 seats leftover. 

SMP #8: Polygon Problem

Students were given the prompt: “If you line up 100 equilateral triangles in a row, what will the perimeter be? Find a rule for any number of triangles.” After initial exploration, one student created a table to show the length of the perimeter based on how many triangles there were. When they have one triangle, the perimeter is 3. When they have two triangles, the perimeter is 4. When they have three triangles, the perimeter is 5. When they have four triangles, the perimeter is 6. The student began to notice that the perimeter was two more than the number of triangles in the line. This student then noticed the regularity in the pattern: for each number of triangles the perimeter length was 2 more.  The student used this reasoning to determine the rule: if n=the number of triangles and p=perimeter, then p=n+2. Therefore, if there was 100 equilateral triangles, then the perimeter would be 102. This student then saw a different regularity.  The student wanted to use the fact that each triangle had 3 sides.  The student represented this idea as 3n, 3 sides for each triangle, in the diagram. However, this amount would be too much for the perimeter and not a reasonable answer because the overlapping sides are not counted in the final figures perimeter.  The student began making different diagrams.  3 triangles had two pairs of overlapping sides.  4 triangles had 3 overlapping sides etc.  The student noticed a new regularity that the number of overlapping pairs is always one less than the number of total triangles.  Attending to this detail, the student represented the amount of overlapping sides not counted in the perimeter as 2(n-1). This amount needed to be subtracted from 3n in order to find the perimeter of the figure.  Hence the rule p=3n-2(n-1). The student then simplified this equation to p=n+2 which supported the initial findings.
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